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Answer ALL Questions
1 (a) Foreventd and B

p(4nB)=032  p(4nB)=011 and p(4UB)=0.65

(i)  Write down the value of p(4)and p(B)

(i)  Find p(%,)

(iii)  Determine whether or not 4 and B are independent.

(b) Find

i) D (£ 4+ +x+1
(1) 0 ( )

. (ii)(D2+D+l)(x2+x+1)

(iit’)%(x.—!—;{:]
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Nimal and Sumila talk to each other once a week on the telephone. Over many weeks
they recorded, to the nearest minute, the number of minutes spent in conversation on each -

occasion. The following table summaries their results.

Time to the nearest minute Number of
' conversation

05-09 02

10-14 09

15-19 20

20-24 13

25-29. 08

30-34 03

(a) Calculate an estimate of the mean, median and mode time spent on their

conversation.

(b) Draw a histogram for the above data.

The discrete random variable X has a probability function

k(lﬂx) x=0,1
p(X:x).é k(x~—1) x=2,3
0 : otherwise

Where & is a constant.

(a) Show that k= %

(b) Find E(X) and show that £(X*)=5.5

(c) Find Var(2X-2).
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